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QUESTION 1

Which two options does VM Monitoring use to determine if a virtual machine should be reset? (Choose two.)
A. 1/0O activity from the virtual machine

B. CPU activity from the virtual machine

C. Network activity from the virtual machine

D. Heartbeats from VMware Tools

Correct Answer: AD

QUESTION 2

Which two statements are true using Resource Pools? (Choose two.)
A. Resource Pools require vSphere DRS to be enabled.

B. Resource Pools compartmentalize all resource in a cluster.

C. Resource Pools compartmentalize all resources in a datacenter.
D. Resource Pools require vSphere HA to be enabled.

Correct Answer: AB

Reference: https://communities.vmware.com/thread/145338

QUESTION 3

A vSphere administrator takes a snapshot before logging into a VM to preserve the current state in case of a problem.
Assuming this process is repeated every day for over 30 days, what two results will happen? (Choose two.)

A. The virtual machine\\'s performance will decrease.

B. The virtual machine can end up consuming more space on the datastore than assigned.

C. The administrator will have backups for the entire month.

D. The administrator has successfully cloned the VM 30 times.

Correct Answer: AB

Reference: https://kb.vmware.com/s/article/1025279

QUESTION 4
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What three tools or products can be used for monitoring a vSphere 6.x deployment? (Choose three.)
A. vCenter Alarms

B. vCenter Events

C. vRealize Automation

D. vRealize Operations Manager

E. vRealize Orchestrator

Correct Answer: ADE

QUESTION 5

What is required to create a vSphere Distributed Switch? (Choose two.)
A. vSphere Enterprise Plus licensing is required.

B. Login to the ESXi Host with the Root account.

C. A minimum of two physical uplinks is required.

D. The host is added to a vCenter Server.

Correct Answer: AD

Reference: https://kb.vmware.com/s/article/1010555
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